2A) the [ ol 5012 48 B o 12 Fojolet
3x—{y—(7Ty-6x)} =3x—(y—Ty+6x)

=3x—(6x—Dy)

A 10, 9% 112, 571 15, WS 1 20, Y= 23

=
[=

>
> EE. 3

3x—{y—(Ty-6x)} =3x—(y— 7y +6x)

= 3x — (6x — 6y)
= 3x — 6x + 6y
= —3x + By

o ¢toll E012 5 &AW = HEshi 6, 6, -3, 6 o[t
< HSHH 6 + 6 + (-3) + 6 = 15 o[t




10x+5

2)6(2x —4)

D 3-5a<5a+5

1
@(5x— 1)§x # 32+ 4x







x 7h A o], 54 -5 (x - 2) > -3+ x 9] 35 BT Fotolat

-5(x-2)>-3+x
-5x+10> -3 +x

—6x > —13

13

— =2.16---
x < :

Adx = 1,200




@ xS ® x7

® x°

SHE 7 —a—1=2 a=40lck

x4 2kal

=
=

L]




o\ Y -
(7) = L M 0t b ) e Fotolen

> E

> Het: 8

3a==6
3b=18
L~ a+b=38

3
xyb _ x3y )
xy3 - x3ay9 T3

3b 9

<

L a=
b=




H7
@ a*xa? =4 © (@) =d
@a—a5—al4 @ ad’+at+a®=a
D)3, © @ ® ® ©
@ 0O, ® 9,0,

© (@®)P=da’,®db +a* +a® =1 oJT}.







9.

~3a%b x (~4dab) =[]

A=Y

@® —6a® @ —6ab

® 6a

@ 6a?b

[ ]=12a3b2 = 24 =

12a3b?

2a2

-3a%b x (—4ab) + |:| — 12a3p2 = \:I — 242

= 6ab?




10. 3x(x+2y-4)=Ax> +Bxy—Cx¥ W, A+ B+ C 9| 42?

® 2 @ 3 ® -3 @21 ® -4

3x(x+ 2y —4) = 3x% + 6xy — 12x
LJA+B+HC=3+6+12=21




11. (2x2-3x-5)-3(x>-x+4) =A> +Bx+C ¥ W, A+ B-C 9
= ool

> E.

> Hehl 16

(2x* =3x-5)-3(x* —x+4) =22 -3x-5-3x* +3x—- 12 =
—x>-17=Ax>+Bx+C
ZA+B-C=-14+0+17=16




12, (2x+y)(3x + 2y) o] A7l A, xy Q] A2

@ 2 @ 5 Ok @ 9 ® 11

B

(2x+y)(3x +2y)

= 6x% + 4xy + 3xy + 2)?
= 6x2 4 Txy + 2y?
Ly AL T




—9<x<4old-1<y<7olth x—y 2 HYE

Gl atb o) e

a o1& b olstetal

©-3 @1 6-9 @u ® 13
lsy<7 Aol 12 B, 75y <
<

=
9<x<4}-7<-y
-l6<x-y<h5o|lBn=z
a+b=-11




14.

x—12
4

54 3(x—10) < —x+5,

4n

o
rr

?

35 35
@) —35<xsz (@)—35s;c<Z

@ -30<x<35 ® -25<x<35

35
©) —30<x$z

B

i)3(x—10) < —x+5
3x-30<—x+5
il

4

x—12 x-2 7
<

0 —— <3 +p
3(x-12) <4(x-2) +7
3x—36<4x-8+7
x> -35

35
Jo= < —
35 <x< 1

+o5 g 12 8

I




AYHREA 5r -5 <Tx—1<10x+ 28 ZEH?

® x<-3 @ x>-3

@x>—1 ® x<3

® x<-1

5x—5<T7x—1<10x+ 294
Sx—5<7x—1°]2, 7Tx—1<10x+2
Bx—=5<T7x—-1,x> -2
Tx—1<10x+2, x> -1

x> -1




16. thg ool Sol2 £A4E el 2 A 2.2

2 2
() < (2) -
a

®4,1,4 @)4,2.4 ®4,3,3
@ 4,3,2 ® 4,4,2
1\?2 [/2)\?
@ix () x() = a2 olm2 Wte] Eolzt 27

4,2,4




1 5
2x2 4+ g -4 be— {ﬁx— (3x2—1)H = ax?® + bx + ¢ A &

a, b, c ol tstol a + b+ 2¢ & F2?

Do ® 3 3 5 @9

® 15

B
2+ 5[5~ (g )

3 1 5
=2+ 5 -4 {5¢ - (Jr-32 1))
x—|—2 2x 2x 3x° +
3 (1 5 >
=92 — 4 _ _1
x—i—% 2x 2x—|—3x
=20 + 5~ 2% + 10x - 124* +4
11
=—12x2+10x+7

ca+b+2=-12+10+11=9




o
%

=
I
i
&,
g
o,
w
o
o
L)
rlo
ox
e

Ao, ax-1<x+4 9 HE 2F

4
o
Xy
=

02
i
|
—

0
AL
=

VVVVYYVYVY
i
L

0
i
_

rlo
o
i
ol
=
o
il

3x <5, x< g olB& Ayigto] 3 Hr} &

RtEelE 5 -2, -1, 0, 1 °]th




2 1
19. Lﬁ%%ﬂ—%a{x o at gew, olg wEs o o A%
x+3> a
ag ool
» G
> A 5
{2x—1<3~-® oo
x+32a---@
@D:2x<4
x<2
@:x>2a-3
ola, 57} EA5HA] FoH a -3 > 2 oJT.
wetd a > 5 0|82 a9 HEFL 5otk




=

T 1o

s i

@ 1 @2 ® 3

HBEA3x—4<x+6T1-3x< 52 BT WE5HE 4 Fo| A
x

~&B

3x—4<x+6, x<5b
1-3x<-5, 2<x<5H

2 o]t}

TehA B BHES= fE2<x

<5olBE b Ze Bk




